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Chapter 2
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Chapter 2 Review Questions

l.c 2.b 3.a 4. (1) To find the volume of liquid storage tanks. (2) To determine the amount of
concrete needed for a driveway. 5. As a shorthand way to designate different measured quantities of the same type.
6. Most mistakes are made in problem solving by missing needed information or misinterpreting the information
given. 7. Making a sketch helps visualize what is happening in the problem. 8. The basic question. 9. The
working equation is found by solving the basic equation for the unknown quantity. 10. Carrying the units through a
problem shows whether the answer is the kind expected. 11. Making an estimate of the correct answer shows
whether the solution is reasonable.

Chapter 2 Review Problems
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Chapter 2 Applied Concepts
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